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20248 =0ila LEHSIH 2] H 1

SA: 3D
g SEE AH=2E
Chel: AESH 31 H 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1 1,561,285 1,493,641 67,644
St A2 1,451,583 1,393,344 58,239
FarSE=lgeIW Fge 1,451,583 1,393,344 58,239
N2 288 2 98,920 97,200 1,720
201 fer= 3| 76,600 89,880 213,280
01 At 2|l 70,600 83,880 A13,280
OAREE & 228 7
550,000& * 122 6,600
Q20233 HAE MSNSZ LA (L), 48D
A Q1Y 175,000& 1202 21,000
O20232| HAT MBMEZ LM Q14|
150,000& 12022 18,000
O20232| HIHE 10| 2] #=2 2M4E20N
NES 7,000,000 * 14 7,000
020232/ HHAT HRL20A Sl HAL H&E
9 18,000,000& » 14 18,000
02 S3=gl 6,000 6,000 0
O3 AHAANSFE HEE2SEEE
15,0002 400 6,000
202 04| 4,320 4,320
01 =LHOLI 4,320 4,320
O3 H gR=T0iH| 360,000 * 122 4,320
301 EtE NS 18,000 3,000 15,000
11 dAMEEIXIZE S 3,000 3,000 0
OZ 4B ARIE AHIXIH
3,000,000 %14 3,000
14 JIEt2 a3 15,000 0 15,000
OZUBARAE =&
150,000 x5 20! 15,000
=30t SEE Aot 81,382 76,102 5,280
201 2= 47,902 41,902 6,000
01 At2t2lt] 47,902 31,102 16,800
OAMRES € 225 7Y
220,000 122 2,640
Oxgd UStEH(GB) dYE3D +=42
24,000,000 *14] 24,000
OFAMA ZZ20(2t0ldA) Xtz
1,300,000 *14] 1,300
O=3&c X0 2
500,000 7S 3,500
O=&83 Wl ==& 5,000 1008 500
O=8=8 Zd3&8)I+==8
253,000 %204 2x23] 1,012
O2HIE HNLESD ++F(LLHESF)
100,000& %52 500




SA: 3D
B =0 52y
cHRls A B> (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S ERCEEREREE:
70,0002 x5 73] 2,450
ORFIDZITI| AZEYNH FX2EIEH
1,000,000« 128 12,000
202 04| 6,480 7,200 AT20
01 =LHOLI 6.480 7,200 AT20
OHef R0 540,000 * 122 6,480
405 AHaHE S 27,000 27,000
01 AL =S F=HI 27,000 27,000
ORFID A0EE eIt
2,700,000 = 10CH 27,000
SSAtE 2el 1,271,281 1,220,042 51,239
201 fet=23y| 863,521 861,282 2,239
01 AtR2te|HI 21,564 23,064 21,500
OERSE(XY) AWYII44E
253,000 *2CH*43] 2,024
O=2HlE dULESD =3 (XHE0H)
160,000& 42 640
OAIEE OIDIX M (SEXE RFHE)
4,500,000 14] 4,500
ODn=gz s8ea
100,000 x12CH 12& 14,400
02 S5=24g4l 841,957 838,218 3,739
Oxtgr= Al 841,957
DASSE(RER) 4,987,000& 12CH 59,844
DAags8(EIIFL)
2,395,000 40CH 95,800
>SESE(FER) 6,867,000 =4CH 27,468
DUESS(HER) 10,000,000 *6CH 60,000
>SEOSH(IR) 4,404, 00024 <23CH 101,292
S ECEICEEY
4,871,000 ~60H 29,226
DAESE(BR) 2,839,000 *2CH 5,678
>E8sE(ER) 3,993,0002*11CH 43,923
DUHESE(ZR) 12,000, 000 *4CH 48,000
>adsstE 3,416,000 *60CH 204,960
>EEat= 4,474,000 +7TH 31,318
bS8, JIE)
4,356,000 27 CH 117,612
>S4 (At}) 3,147 ,000& *1TH 3,147
>S4 (MZ2R) 4,563,000 *3CH 13,689
202 04| 5,760 5,760
01 =LHOHI 5,760 5,760
OS8xtg 20|
480,000 123 5,760




SA: 3D
g SEE AH=2E
cl: HEEE 33 2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 402,000 353,000 49,000
01 It =S F = 402,000 353,000 49,000
Ossitg 7Y 402,000
PUEsSR 75,000,000+ 1CH 75,000
>UEsSAt 50,000, 0002 = 1CH 50,000
>SS st 230,000,000 »1CH 230,000
> AasStE At 40,000,000 »1CH 40,000
>EEBA 2I| 7
7,000,000 *14] 7,000
YA (3 1) 109,702 100,297 9,405
CIARAHI (3 A1) 78,102 76,797 1,305
ol (3Dt 78,102 76,797 1,305
101 @124H| 78,102 76,797 1,305
01 &= 78,102 76,797 1,305
OARIeIRR4Y
11,3192 %23 #300A1 2+ 78,102
J1=2ZHI(3IH 1) 31,600 23,500 8,100
Jl=2ZeI(E) 31,600 23,500 8,100
201 etz 3| 17,000 17,000 0
01 At 2|l 15,000 15,000 0
OFRA2g A2/
15,000,000 * 14! 15,000
2 35244l 2,000 2,000 0
OFANEE S524H|
2,000,000 %14 2,000
202 04dl 2,000 2,000
01 =LHNHI 2,000 2,000
OH gF=4 221048
2,000,000 *14] 2,000
203 =] 4,200 4,200
M FA2HARFAI 4,200 4,200
0252 0Ols 350,000 * 122 4,200
405 AHaHE = 8,400 300 8,100
01 It =S F = 8,400 300 8,100
OPC(12Hl) 1,300,000 *3CH 3,900
OE=(H) 1,500,000 *1CH 1,500
O MM (1 H) 1,200,000 *1CH 1,200
(OFE== 700,000 ~2CH 1,400
OIHHIR 200,000& *2H 400




